® -
ANFALNEANKRUU

ifa: Yuil: _ ezuuuw
(5x° = 2)(x +4) — 4% —5x + 6 (6x + 6)(3x+ 6)(2x — 2)
(5x+ 5)(3x° — 3x — 4) + (6x + 4)(6x + 2) 4x+ 2+ 50)(Bx + 1)(6x+ 1)
(5x— D)(x+3)(x+ 3) o= D(dx—4) -6 —x—1
(x2+5x+5)(x+5)—1><5x—3 (4x2+3)(3x—1)+6x2—x—6
(3x2+1)(3x+5)—x2+3x+4 (x2+5)(6x—2)+x2+6x+5
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ANTUELNEANWUU

(52— 2)(x+4) — 4% —5x + 6
50+ 16x% — Tx— 2

(5x+ 5)(3x° — 3x — 4) + (6x + 4)(6x + 2)
15 +36x% +x— 12

Gx— D+ 3)(x+3)
5¢° +29x> +39x— 9

(7 + Sx+5)(x+5)— 1 x5x—3
X+ 1002 + 25x + 22

(Bx?+ D)(Bx+5)— X +3x+4
9% + 14x° + 6x+ 9

Jun:

(6x + 6)(3x+ 6)(2x — 2)
36x° + 72x° — 36x— 72

4x+ 2+ 5x)3x+ 1)(6x+ 1)
90x> + 81x% + 27x+ 2

(= DEx—4)—6F —x— 1
40 — 106 — Sx+ 3

4 +3)Bx— 1)+ 6% —x— 6
12 + 2 + 8x— 9

(F+5)(6x—2) + X +6x+5
6x° — x* +36x— 5

www.snowmath.com

ASLLUU:




